
Installation manual 

DCS-62s

• Installation of automatic doo「 should be entrusted to the appointed distributo「 or
professional team as installation by non-professionals may result in injur y 

• Installation must be performed by professionals only in accordance with relevant

decrees and codes for electrical installation

• This manual must be kept well fo「 product maintenance

l i

编

一









3

SIDE VIEW

Remake：This view is not in a sacle of 1:1

SIDE VIEW（ONE）

SIDE VIEW（TWO）

242

21
1.
5

BELT HOLDER ROLLER

HANGER

M
O
T
O
R

A
C

50
20
0

23
1.
5

256

30 18 42

730 30

25
MOTOR

CONTROLLER

50X32 FRAME

R

R-60



4

SIDE VIEW

20
0

21
1.
5

BELT HOLDER ROLLER

BELT HOLDER ROLLER

SIDE VIEW(THREE)

SIDE VIEW（four）









8

  COMPONENT POSTION IN GUIDE RAIL

SW
IT

CH
MO

TO
R

CO
NT

RO
LL

RT
BE

LT
HA

NG
ER

BE
LT

 B
RA

CK
ET

BE
LT

 H
OL

DE
R 

RO
LL

ER BE
LT

 H
OL

D 
RO

LL
ER

ST
OP

PE
R

BE
LT

 H
OL

DE
R 

RO
LL

ER
SL

OT
 B

RA
CK

ET

DO
UB
LE
 

SW
IT

CH
MO

TO
R

CO
NT

RO
LL

ER
BE

LT
HA

NG
ER

BE
LT

 B
RA

CK
ET

BE
LT

 H
OL

DE
R 

RO
LL

ER
ST

OP
PE

R
BE

LT
 H

OL
DE

R 
RO

LL
ER

SL
OT

 B
RA

CK
ET

SI
NG
LE



[ Makingarc frame ]

(1) To prepare 25 * 25 * 1.5 square tube, set radius R according to the construction requirements and

bend it into half round. The side section of welded framework is 180 * 250, see Figure A. 

(2) Fix guide rail brackets and the bracket of the belt holde「,determine the location of the belt holder

rollers, see the complete drawing. 

(3) Tap 8 holes with size M10 in the guide rail, the distance between each two holes is 500mm. Bend the

guide rail into half round according to the construction requirments, connect the guide rail and guide rail 

bracket with M 1 OX55 counter sunk bolts and spacer. Adjust the position of the guide rail until it's level. 

Guide rail 
M10 bolt 

｀ 

Installation of guide rail 

[ con nection of the com ponents J 
(1) Connect the supporting bracket and rollers holder of the- belt holder roller unit with M6 bolt.

Note that supporting bracket B matches with rollers holder B, supporting bracket C matches with 

rollers holder C. See section view B and section view C (page 3 and page 4). 

(2) Connect the motor brackets and the supporting plate for motor with M6 bolt, fix the idle

pulley onto the othe「 supporting plate. 

[ Hang i ng of door Ieaf ]
There are three ways to connect the door glasses as below drawing. The hangers can be directly 

connected to below three clamps with MB bolts , easy to install. The surface coat of the aluminium 

profile can be wood or stainless steel. 

Fixed clamp The active door floor clamp 

9



[ Adjustment of doo r Ieaf ]

(1) First loosen hanger bolts, move the anti-off roller to the lowest position. Install the hanger
on proper position of the door leaf with hanger bolts(M8X30), please avoid the stopper 
touching the guide rail column. 

(2) Hang the door leaf onto the guide rail, adjust the anti-off 「oller and leave a gap about
1 mm to the guide 「ail.

Height adjustment nut Anti-off roller 

(3) Hang the door leaf on the guide rail, if the door slide to left or right means that the
rail is not level, the door leaf should be able to be gently opened or closed by hand.

(4) If the gap between the active & fixed door leaf  is not the same.loos en and

adjust the height adjustment bolts or adjust the pos ition of f loor guide roller.

(5) The active door leaf has no friction with static ob」ects, such as guide rail, cover, fixed
doors and the floor.

Double opening

Hanqer 

Gap 

10


























	62S-1
	62S-2
	62S-3
	62S-4
	3
	4
	DCS-125 Manual_7
	9
	DCS-125 Manual_10
	DCS-125 Manual_11
	DCS-125 Manual_11-1
	DSH-250_14
	DSH-250_15
	DSH-250_16
	DSH-250_17
	DSH-250_18
	DSH-250_19
	DSH-250_20
	DSH-250_21
	DSH-250_22
	DSH-250_23
	DSH-250_24



